
 20
 S

T
G

 1
7

7 / 2
8

OK u. UKRD = 10

WD-H/H 40/20

OK u. UKRD = 10

WD-H/H 40/30

 2
5

 S
T

G
 1

7
 /

 2
8

 2
3 S

T
G

 18
48 / 2

6

 24
 S

T
G

 1
7

62 / 2
8

O
K

 u
. U

K
R

D
 =

 6
5

W
D

-E
/E

 5
0

/2
0

OK u. UKRD = 75

WD-E/E 40/20

OK u. UKRD = 75

WD-E/E 40/20

WS-E 9,0/34,5/8,0
OK u. UKRD =3,790 m

WS-E/E 9,0/34,5/8,0
OK UKRD = 2,910 m

O
K

 u
. 

U
K

R
D

 =
 0

W
D

-S
/S

 3
2

/2
5

WS-S/S 15/380/7OK u. UKRD = 0,53 m

O
K

 u
. U

K
R

D
 =

 2
0

W
D

-H
/H

 2
0

/1
0

O
K

 u
. U

K
R

D
 =

 1
0

W
D

-L
/L 3

5
/3

5

W
S

-E
/E

 9
,0

/3
4

,5
/8

,0
O

K
 u

. U
K

R
D

 =
 3,8

4
0

 m

OK u. UKRD = 40
WD-H/H 20/20

WS-S/S 15/360/7
UK ü. OKRFB = 0,00 m

WS-E/E 9,0/34,5/8,0
OK u. UKRD = 2,910 m

W
S

-H
/H

 1
5

/3
8

0
/7

U
K

 ü
. O

K
R

F
B

 =
 0

,0
0

 m

O
K

 u
. 

U
K

R
D

 =
 5

3

W
D

-E
/E

 4
0

/2
0

OK u. UKRD = 10
WD-HLS 100/60

OK u. UKRD = 40
WD-L/L 50/35

OK u. UKRD = 0
WD-E/E 25/25

OK u. UKRD = 0
WD-E/E 25/25

O
K

 u
. U

K
R

D
 =

 3
2

W
D

-E
/E

 4
0

/2
0

O
K

 u. U
K

R
D

 =
 0

W
D

-L
/L 9

0
/6

0

O
K

 u
. U

K
R

D
 =

 2
8

W
D

-S
/S

 6
0

/1
5

O
K

 u
. U

K
R

D
 =

 2
8

W
D

-H
/H

 4
0

/1
5

R
A

 u
. U

K
R

D
 =

 2
1

W
K

-S
/S

 Ø
 2

2

OK u. UKRD = 0
WD-E/E 20/20

W
D

-H
/H

 5
5/1

5

R
A

 u. U
K

R
D

 =
 41

W
K

-L/L Ø
 4

0

O
K

 u
. 

U
K

R
D

 =
 2

8
W

D
-S

/S
 6

0
/1

5

R
A

 u
. 

U
K

R
D

 =
 5

5
W

K
-S

/S
 Ø

 2
2

O
K

 u
. 

U
K

R
D

 =
 6

0

W
D

-E
/E

 3
0

/3
0

O
K

 u
. 

U
K

R
D

 =
 2

8

W
D

-H
/H

 4
0

/1
5

WS-S/S 15/420/7
OK u. UKRD = 0,00 m

WS-S/S 15/420/7
OK u. UKRD = 0,00 m

U
K

 ü
. O

K
R

F
B

 0
W

D
-H

/H
 2

0
/1

0

O
K

 u
. U

K
R

D
 =

 1
0

W
D

-S
/S

 4
0

/1
5

O
K

 u
. U

K
R

D
 =

 1
0

W
D

-S
/S

 4
5

/3
0

O
K

 u
. U

K
R

D
 =

 1
5

W
D

-H
/H

 5
0

/1
5

R
A

 u. U
K

R
D

 5
0

W
K

-L
/L Ø

 3
0

R
A

 u
. O

K
R

D
 5

0

W
K

-L
/L Ø

 3
0

O
K

 u
. U

K
R

D
 =

 7
5

W
D

-E
/E

 6
0

/2
0

R
A

 u
. U

K
R

D
 =

 5
4

W
K

-S
/S

 Ø
 2

5

R
A

 u
. U

K
R

D
 =

 7
3

W
K

-S
/S

 Ø
 2

2

RA u. UKRD = 53

WK-L/L Ø 25
OK u. UKRD = 75

WD-E/E 40/20

OK u. UKRD = 75

WD-E/E 40/20
O

K
 u

. U
K

R
D

 =
 5

2
W

D
-E

/E
 3

0
/2

0

O
K

 u
. U

K
R

D
 =

 6
5

W
D

-E
/E

 5
0

/2
0

O
K

 u
. U

K
R

D
 =

 5
2

W
D

-E
/E

 5
0

/2
0

OK u. UKRD = 52
WD-E/E 50/20

O
K

 u
. U

K
R

D
 =

 47
W

D
-E

/E
 6

0
/2

0

OK u. UKRD = 52
WD-E/E 30/20

O
K

 u
. U

K
R

D
 =

 6
5

W
D

-E
/E

 5
0

/2
0

O
K

 u
. U

K
R

D
 =

 1
0

W
D

-H
S

/H
S

 8
5

/4
0

O
K

 u
. U

K
R

D
 =

 6
5

W
D

-E
/E

 5
0

/20

RA u. UKRD = 36

WK-S/S Ø 22

U
K

 ü. O
K

R
F

B
 0

W
D

-H
/H

 2
0

/1
0

OK u. UKRD = 65

WD-E/E 50/20

OK u. UKRD = 60
WD-E/E 30/30

RA u. UKRD = 53

WK-S/S Ø 22OK u. UKRD = 28

WD-H/H 40/15

OK u. UKRD = 28

WD-S/S 60/15

O
K

 u
. U

K
R

D
 =

 4
7

W
D

-E
/E

 4
0

/2
0

O
K

 u
. 

U
K

R
D

 =
 7

5

W
D

-E
/E

 4
0

/2
0

OK u. UKRD = 47

WD-E/E 70/20

OK u. UKRD = 62

WD-E/E 60/20

BH roh 57
BH fertig 64
Jalousie, h=31

BH roh 57
BH fertig 64
Jalousie, h=31

BH roh 57
BH fertig 64
Jalousie, h=31

BH roh 57
BH fertig 64
Jalousie, h=31

BH roh 57
BH fertig 64
Jalousie, h=31

BH roh 57
BH fertig 64
Jalousie, h=31

O
K

 u
. 

U
K

R
D

 =
 1

5

W
D

-H
/H

 5
0

/1
5

OK u. UKRD = 53

WD-E/E 60/20

OK u. UKRD = 156

WD-L 164/63

WK-S/S  ø29,0RA u. UKRD=0,75

WK-S/S  ø22,0RA u. UKRD=1,00

R
A

 u
. 

U
K

R
D

 =
 3

4

W
K

-S
/S

 Ø
 1

5

OK u. UKRD = 0,00
WD-L/R 1,60/4,34

BH roh 97
BH fertig 1,04
Rollladen, h=31

BH roh 1,16BH fertig 1,23Jalousie, h=31

BH roh 1,03BH fertig 1,10Jalousie, h=31 BH roh 1,03BH fertig 1,10Jalousie, h=31

BH roh83
BH fertig 90

BH roh 1,16BH fertig 1,23Jalousie, h=31

Fenster-BH roh 2,985

Fenster-BH roh 2,985

Fenster-BH roh 2,985

R
A

 u
. 

U
K

R
D

 =
 5

3

W
K

-L
/L

 Ø
 2

5

100,00°

80,00°

100,00°

78,00°

80,00°

100,00°

2,84

1,27

2,12

1,27

25
 S

T
G

1
7 / 2

6

E
lt-U

V

Serverschrank

RÖ

S
e

rve
r

F
lu

ch
ttü

r-

sich
e

ru
n

g
B

F
-S

/S
 8

0
/3

0
O

K
 u

. U
K

R
D

=
0

,4
0

RA u. UKRD = 55
WK-L/- Ø 22

RA u. UKRD = 293

WK-L/- Ø 22

RA ü. OKRB = 55WK-S/S Ø 8

WS-S/S 15,0/429,0/8,0
OK u. UKRD = 0,00

R
A

 u
. U

K
R

D
 =

 5
5

W
K

-S
/S

 Ø
 1

5

W
S

-S
/S

 1
2

/3
0

4
/1

2
O

K
 u

. U
K

R
D

 =
 0,5

5
 m

U
K

 ü
. O

K
R

B
 6

2
W

D
-S

/S
 7

3
/7

3

 17
 S

T
G

 1
6

92 / 2
8

 1
0

 S
TG

 1
6

92
 / 

2
8

BH roh 1,16BH fertig 1,23Jalousie, h=31

2,34

1,92

U
K

 ü
. 

O
K

R
F

B
 4

2
4

W
D

-H
/H

 2
0

/1
0

W
S

-H
/H

 1
5

/4
2

4
/7

U
K

 ü
. O

K
R

F
B

 =
0

,0
0

 m

R
A

 u
. 

U
K

R
D

 =
 3

6

W
K

-S
/S

 Ø
 1

5

R
A

 u
. U

K
R

D
 =

 1
0

W
K

-S
/S

 1
8

O
K

 u
. 

U
K

R
D

 =
 4

0
W

D
-L

/L
 6

0
/9

0

O
K

 u
. U

K
R

D
 =

 0
W

D
-S

/S
 6

0
/3

0

O
K

 u
. U

K
R

D
 =

 7
0

W
D

-L
/- 6

0
/90

O
K

 u
. U

K
R

D
 =

 5

W
D

-S
/S

 9
0

/2
0

OK u. UKRD = 65

WD-E/E 20/20

W
S

-S
/S

 1
5

/3
0

/1
3

O
K

 u
. U

K
R

D
 =

 0
,0

0
 m

O
K

 u
. U

K
R

D
 =

 0

W
D

-L
/L 5

0
/5

0
O

K
 u

. U
K

R
D

 =
 1

0
W

D
-L

S
/L

S
 11

0
/6

0

OK u. UKRD = 28

WD-S/S 60/15

OK u. UKRD = 28
WD-H/H 40/15

RA u. UKRD = 50

WK-S/S Ø 22

OK u. UKRD = 0
WD-E/E 20/20

OK u. UKRD = 28
WD-H/H 40/15

OK u. UKRD = 18

WD-L/L 35/35

RA u. UKRD = 52
WK-S/S Ø 22

RA u. UKRD = 50
WK-S/S Ø 15

WS-S/S 15/420/7
OK u. UKRD = 0,71 m

OK u. UKRD = 28
WD-S/S 60/15

OK u. UKRD = 60
WD-E/E 20/20

O
K

 u
. U

K
R

D
 =

 5
2

W
D

-E
/E

 3
0

/2
0

O
K

 u
. 

U
K

R
D

 =
 1

5

W
D

-H
/H

 4
5

/1
5

O
K

 u
. U

K
R

D
 =

 1
0

9
W

D
-L

/- 66
/3

6

WS-S/S 12/350/12OK u. UKRD = 0,13 m

RA u. UKRD = 13

WK-S/S Ø 22

UK ü. OKRB 59WD-S/S 84/84

  
5 

S
T G

  1
7

2  / 
2

8

  9
 S

T
G

  1
6

92 / 2
8

  5 STG

  1762 / 28

100,00°

Lüftungsgerät

E
lt-U

V

HaupteingangElisabeth-Castonier-Platz 19

Elisabeth-Castonier-Platz

Personaleingang/Anlieferung
Willy-Brandt-Allee

Willy-Brandt-Allee

24/7
Rückgabe

Sortier-
raum

Foyer/
Ausstellung

Info/
Theke

Lounge-
bereich

Kinder

Veranstaltung

Eltern-Kind-
Raum

Lese-
garten

Jugend

Erwachsene

Lern-/
Konferenz-
raum
(teilbar)

Büro-
bereich

Stuhllager

ELT

ELT

WCs

Synergie mit
BiLok

Sozial-
raum

BiLok

BiLok Flächen

Synergie Flächen
Bibliothek/BiLok,
teils öffentlich

Bibliotheks-Flächen, öffentlich

Bibliotheks-Flächen,
nicht öffentlich

Legende

Eingang BiLok

Münchner Stadtbibliothek Riem Messestadt Ost
Einrichtungsplan MSB_09.09.2019


